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« FFIREE = 1mg/(1+19)ml
« AUEE = 1mg/20ml
e Fatf=E = 0.05mg/ml £33,




STEP2 1vy= {&&(kg)x0.06mg/hrz&i

Bl Z (L AE60kg THNIL.
1y = 60kgx0.06mg/hr
1y = 3.6mg/hr &35,

STEP3 mg/hr—>ml/hricZi

mrue=E 0.05mg/mIRDT,

1ly= 3.6mg/hrdiz5a.
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0.05y = (72x0.05)ml/hr
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0.3% = 0.3g/100mI=0.003g/mI=3mg/mL

FBHDIRE = 50kg £95¢
Y = Hg/kg/min
=60x0.001mg/kg/h
=0.06x50 mg/h=3mg/h
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A)IRE : 6mg/25m| 0.24mg/ml
Iml/hDZE. 1hT0.24mgis53Nns

B)
ly=pg x “AE) / min
= 0.001mg x 40 x 60/ h =2.4mg/h
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A)HBFEE © 6mg/25mI=0.24mg/ml

B)ly=pg x ({AE) / min
= 0.001mg x 40 x 60/ h =2.4mg/h

HIEE 0.24mg/mITdHhadIzs.
1y=2.4mg/hDiF&. 1y=(2.4+0.24)=10ml/h r £33,

0.05y=(10 x 0.05)mh/h= 0.5ml/h
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B [50kg

10 10
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A)EE : 10mg/20mI=0.5mg/ml
1ml/hDiEE. 1hTO.5mgik5an3

B) 1ly=pgx (&) / min = 0.001mg x50x 60/ h
=3mg/h

Az1ml/hT5Uima(d. 0.5/3=0.16y
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A)HBFEE © 10mg/20ml=0.5mg/ml

B) 1y=pgx (@&&E) / min = 0.001mg x 83.3 x 60/
h =5mg/h

AR 0.5mg/mITHhadIzs.
1y=5mg/hDiz&. 1y=(5+0.5)=10ml/h r £23,

0.1y=(10 x 0.1)mh/h= 1ml/h
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